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|. Objective

The objective of this project isto describe arelevant engineering system modeled by a
system of nonlinear parabolic partia differential equations. This description will require the
solution of the system of equations using a numerical method. Finaly, meaningful engineering
insight will be drawn from the transient and steady-state solution of the equations and their
response to a sensitivity analysis of physical parameters and process variables.

1. Derivation of PDEs

A plug flow reactor (PFR) isapipe. Reactants are fed in one end of the pipe and some
mixture of reactants and products emerge from the far end. The concentration of species and the
temperature inside the PFR can vary with time (t), axia position (z), radia position (r), and
angular position (q). For the purposes of this derivation, we are going to assume that the
variation in the radial and angular directions are negligible. Therefore, the concentrations and
temperatures are only functions of time and axial position.

The equations that describe the behavior of a plug flow reactor are material and energy
balances. Asmateria and energy balances, they have the functional form:

accumulation = in - out + generation @
We now write adifferential mole balance on an arbitrary species A. The units of this equation are

moles/time. The system over which the balance is performed is a cross-sectional disc with width
pz. Thevolume of this differential volumeis

DV=A_.Dz=-—FDz (2

cross

where D, isthe diameter of the pipe.

accumulation = DV ﬂ;:t’* (3.9
Moles of A can enter the system by convection.
inby convection = [VA . .C.], (3.b)

where v isthe bulk velocity in the axial direction at position z. Moles of A can leave the system
by convection.

out by convection = [VA_,..C,l. .., (3.0
Moles of A can enter the system by diffusion down a concentration gradient.
inby diffusion = [A . Jal, (3.d)
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where J, isthe molar flux of species A in the axial direction at position z. Moles of A can leave
the system by diffusion down a concentration gradient.

out by diffusion = [A_sJal.. ., (3.9
Moles of A can be generated by a chemical reaction.
generation = u ,,DV xrate (3.1)

where rate istherate of chemical reaction and u, isastoichiometric coefficient for A inthe
reaction (negative for reactants and positive for products).

Next we combine terms (3.8) to (3.f) in amass balance. We divide by the differentia
volume and take the limit as Dz goesto zero. Thisyields

DV 1C,
it

= [VAcrossCA]z - [VAcrossCA]z+ oz ¥ [Across‘]A]z - [Across‘]A]z+ oz ¥ UADV xrate

1Cx . I0Ca) TUa),  ate @)

1t 1z 1z

Fick’'s law of diffusion relates the molar flux, J, , to the concentration gradient

1C,

J,=-D 5
A p. )

The rate of the reaction for an elementary irreversible reaction of the form:

u,A+ugB® uC+uyD (6)
is

rateforward = kaA‘UA‘CB‘UB‘ (7)
where the rate constant, k, is generally given as

_ Ea,f
Kk, =k,e *T 8

where R isthe gas constant, T is the temperature, E; is the activation energy, and Ko isthe
exponential prefactor. Remember, the rate has units of [moles/volume/time] so Kkos has variable
units depending upon the stoichiometry of the reaction.

If the reaction isirreversible, then we can write the reverse rate as

2
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rate = erC‘”C‘CD‘”D‘ 9)

reverse

Substituting Fick’s law and the forward and reverse rates into the material balance, we
have

E E

1C, ﬂ(VCA) |l %ﬂcAﬁ "R lual~ Jug “RT~ lucl~ Juol
=- +— +u,k e RTC,"C."® - u,k e RTC."°'C,™" (10
qt 0z ﬂzg Z 5 ARof A B ARor c D ( )

If the velocity and the diffusivity are assumed constant with respect to Temperature and
concentration, then equation (10) can be ssimplified to give:

1°Ca

Ea,f _i
ft DI uke TTCMC" - uk e TTCC (1)

Equations of this form can be written for every speciesin the reactor. For a non-reactive solvent
species, the balance simplifiesto

1°Cy

2

:-Vﬂ(CS)+D

12
1t 1z 1z (12

The energy balance for a plug flow reactor can be derived in an analogous manner. We
again perform a balance over a differential element. However before we begin we are going to

make a few assumptions about our system. The molar enthalpy of our system, H,isanided
enthapy defined as

éenergyu

- 13.a
& mole { (133)

H= Eolc XiFli = Eolc XCoi(T- T)

i=1 i=1
where T, isathermodynamic reference temperature. (If you chooseit to be O K, it disappears
from the equation.) The heat capacity of speciesiis C,;. Thisisthe pure component entha pies

weighted by mole fraction, x;. Of coursg, it isinconvenient to use mole fractions, since we are
working in concentrations. But the mole fraction can be obtained from

X, = = Ci (14)
ac

where C, isthe total molar concentration. C. isnot necessarily constant but it frequently is
assumed to be so. It turns out that we are going to want the enthalpy per volume, so we need to
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convert the molar enthalpy to a volumetric enthalpy. Thisis done by multiplying by C,. This
gives avolumetric enthalpy of

ne

genergy u
H=3 CC,(T- 5 -
Elil i~p, |( ref) gVOlumeH

(13.b)

Heat enters our differentia volume in the same ways that mass does—namely by
convection and diffusion. We will have analogous terms in our energy balance for these
phenomena. The diffusion term will rely on Fourier’s law rather than Fick’s law to relate the heat
flux to the temperature gradient, with the proportionality constant being, k., the thermal

conductivity.

il (15)
1z

Also, heat can be generated or consumed by reaction. The molar heat of reaction is related to the
activation energies as follows

DHr = Ea,f - Ea,r (16)

Heat can aso be lost through the reactor walls due to poor insulation or intentional cooling.
Generaly this heat loss has the form:

Q Asurfh( surr ~ ) (17)
where A, isthe surface area, h isthe heat transfer coefficient, and T, isthe temperature of
the surroundings.

Thus we can write an energy balance as

2 Ear Bar .
T VT T T oHk e 7 e+ DHk, e FTeeic, el A T T)
qt ﬂz 12° ‘ ‘ V.
(18)

where we have already divided by the reactor volume and taken the limit as Dz approaches zero.

The units of equation (18) (and thus the units of every term in this equation) are
energy/volume/time. Now we need to substitute equation (13.b) in for the enthalpy so that we
obtain a PDE which is given in terms of the temperature. In the following analysis we assume
that the heat capacities are not functions of temperature.

Ne

ﬂa CCoi(T- Tr) n n
1-IH 1 pl re c 1-IC 1-I-I— OC
LI =(T- T )& _ LS

1t 1t A Sei g g & i

(19)
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Similarly, the spatial derivative of the enthapy can be obtained.
18 CC,(T- Tey) : n
H P o 1C, 1T

ML — =(T-T C,—+-—§ C C 20
ﬂZ ﬂZ ( ref)g.l p,i ﬂZ + ﬂZ 2.1 p,i~i ( )

Substituting equation (19) and (20) into equation (18) and rearranging for % yields

2

i A Ne ) ne N ) Eas i
i- VZ(T B Tref)é. Cpi ﬂCI + ﬂ é. Cp icig + kc g ) I:)Hrkofe KT CA‘UA‘CB‘UB‘T
P8 SR P P , i
i = Auh(Ty - T : C 1
T : + DHrko,re- RT CC‘UC‘CD‘UD‘ 4+ surf (Vsurr B ) . (T _ Tref)é. Cp,i l ti :
et a R b @
“ §c.C

Thus we have our very wonderful energy balance. It happens to be a function of the temporal
derivatives of the concentrations but as long as, at each step of the Runge-K utta process, we
solve the mass balance equations first, we will have the values needed to substitute into equation
(21).



[11. Problem Specifications
stoichiometry
=-1

N, ng=-1

Boundary conditions at entrance. (at z = 0)

Ch =10
Cay = 2.0
Ce,=0.0

Cs,l = CT - CA,l - CB,l - Cc,l

T, = 300.0

Boundary conditions at exit. (atz=1L)

1C, _1C, _ 1C _

X X X X
Initial conditions inside reactor

Cao=Cso=Cc=0.0

Cs,o = CT
T, = 300.0
parameters:

c. - 1000

18
D, = 0.01
L=0.2
D=1.0x10"
k,; = 5000.0
k,, = 5000.0
E,, = 4x10°
anr = 8x10*
R =8.314
k,=20x10"
h=2.0x10"*
MW = 0.0180
C = 4184.0

p,water

1Ce _1Cs _ 9T _

11X

no=1

0.0
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[moleg/liter]
[moleg/liter]
[moleg/liter]

[moleg/liter]

[K]

[moleg/liter] (total concentration)

[m]

[m]

[m%/sec]
[1I/mol/sec]
[1/sec]
[Joulessmol €]

[Joulessmol €]
[Jmole/K]
[IYm/K/seq]
[Im?/K /sec]

[kg/moal]
[Jkg/K]



C,.=12C

p,water

Cp,B = 1'3Cp,water
Cp,C = 1'50p,water
Cp,S = 1'OCp,water
T, =273
t = 5000

L
V=—

t
Asurf = pDRL

D2
VepR|
Py
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[Jkg/K]
[Jkg/K]
[Jkg/K]
[Jkg/K]
[K]
[sec] (residence time)

[m/sec] (velocity)

[m?] (surface areq)

[m?] (reactor volume)
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V. Numerical Considerations

Y ou will need to employ a numerical method capable of solving a system of coupled,
nonlinear, parabolic partial differential equations with Dirichlet and Neumann boundary
conditions.

The code syspde_para.m with the input file syspde_para_input.m are capable of
performing thistask. Y ou will need to modify the initial conditions, boundary conditions, PDEs,
and parameters to suit your particular problem.
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V. Assignment

Task One.

For the parameters given above, solve the system of five PDEs. Use 20 spatial nodes and
1000 temporal nodes spanning from t, = 0 to t; = 10,000 sec. Check that you have the code
working properly by examining the profiles of the concentrations and the temperatures at 10,000
sec. They should look something like the following graph, where black = A, red = B, blue=C,
green =S, and magenta=T. In thisplot, the concentrations of A, B, and S and the temperature
have been normalized by their input values at z=0. The concentration of C has been normalized
by the input value of the limiting reagent, A.

time =10000 sec
0.9t 4

o o o
(o] ~ (o]
T T T
1 1 1

Temperature (K)
o o
N o1

0.2 i

0.1 i

O 1 1 1 1 1 1 1 1
0O 002 004 006 008 01 012 014 016 018 02

position along rod (cm)
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Task Two.
Select one of the physical parameters,

D, k,,k,,, E

o,f 1 ™Mo,

E.. K., C,, C;, h, or reaction stoichiometry

a,f? a,r'rc?

Investigate how the reactor behavior changes as you change the variable. Discuss differencesin
both transient and steady-state behavior. Submit a plot which has on the x-axis the variable you
are changing and on the y-axis the steady-state temperature and conversion. (Remember:

Cain- Caou(t = steady state)
CA,in

conversion =

where A isthe limiting reactant.) Vary the physical parameter over arange o that the effect of
the parameter is visible from the graphs.

If the effect of the physical parameter is not visible given the other base case parameters,
you may change those parameters. For example, if the effect of changing the diffusivity is not
visible because the reactor is dominated by convection, you may lower the velocity, in order to
observe the effect of diffusivity. However, maintain this lower value of velocity in al of your
cases o that the data points in the plots for this task have everything held constant except the
parameter you are varying.

Task Three.
Select one of the process variables,

T

in?

Cainr L, T,

surr ?

D,, Vv

R )
Investigate how the reactor behavior changes as you change the variable. Discuss differencesin
both transient and steady-state behavior. Submit a plot which has on the x-axis the variable you
are changing and on the y-axis the steady-state temperature and conversion. Vary the process
variable over arange o that the effect of the variable is visible from the graphs.
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